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QUESTION 1

The InfoEqualizer DNS IP address needs to be the same as the OceanStor 9000 front-end network and customer
application network for network interoperability

A. Correct
B. mistakes

Correct Answer: A

QUESTION 2
A customer production center is in Chengdu with a disaster recovery center in Shenzhen, using VIS 6600T remote
replication capabilities to meet the remote disaster recovery. Which of the following about the VIS6600T copy function is

correct?

A. DCM (data change map) is mainly used to ensure that the data in the production center is copied to the disaster
recovery center according to the order sent by the host to ensure the data consistency

B. Production, disaster recovery data volume and disaster recovery must be consistent, the name can be inconsistent
C. Each business configuration a copy volume group, multiple copy volume group can use the same virtual IP
D. virtual IP and physical IP must be in the same network segment

Correct Answer: D

QUESTION 3

Which of the following statements is correct regarding Global Simplification?

A. You can choose global deduplication as a storage policy when creating subclients
B. You can modify the existing storage policy to global deduplication

C. Global deduplication policies can be referenced by multiple deduplication policies
D. Global deduplication and parallel deduplication can not be used at the same time

Correct Answer: C

QUESTION 4

In a Huawei disaster recovery plan, in order to implement the one-click disaster recovery operation for Oracle
applications, you must configure the recovery in Replciation Director Plan. What configuration actions do you need to do
on the Replication Director side before configuring the recovery plan? (Multiple choice.)

A. Configure the protection group
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B. Configure the protection strategy
C. Configure the site and register disaster recovery host
D. Find the LUNs used by Oracle and make policy protection for these LUNs

Correct Answer: ABC

QUESTION 5

DAYV (Distributed Authoring and Versioning) can solve issues that the HTTP protocol can not such as?
(multiple choice)

A. Rewrite the protection

B. Resource Management

C. Document Properties

D. document encryption

Correct Answer. ABC
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